SYL =E
+W 2L 2E
-1 o =
AEH . HEY
EH 23280.
MNE AMH
T-&% 710|271 Ao{M 21 HESHH 7tSE2 ARIAZE = JTS §tch 713 SA™EIZE =
G ClE) Xt EE M™H5H= W0| OISt E HEY F =2 E[of QICk =0] &t + 0.01mm 7HX| 44f
5 B e #Ho| 42 x|l ZAHEE 80|5tH st
= % ) ME
AE
« AR EH-ZSEA{E], AR
29 Eo|IE
. AR EMXZ
LEA}
« A8 THZE 8.8 (ISO 4762)
ad
L4 L2 | .
=7
h
L [0,01] A
=2 He
T-&% % LEA i ME Hs.
Ato|= Iy a b d h 1, ISO 4762
-0,6 h6 +0,01
[mm] [mm] [mm] [a]
10 150,01 10 10 20 6 8 M 6x25 53 23280.0110
10 25%0,20 10 10 20 6 8 M 6x35 76 23280.0210
12 150,01 12 12 20 6 8 M 6x25 59 23280.0112
12 250,20 12 12 20 6 8 M 6x 35 82 23280.0212
14 250,01 14 14 32 8 9 M 8x35 203 23280.0114
14 500,20 14 14 32 8 9 M 8 x 60 354 23280.0214
16 250,01 16 16 32 8 10 M 8 x 45 221 23280.0116
16 500,20 16 16 32 8 10 M 8x 70 378 23280.0216
18 250,01 18 18 40 10 15 M10 x 50 367 23280.0118
18 500,20 18 18 40 10 15 M10 x 75 615 23280.0218
22 250,01 20 22 40 14 15 M10 x 55 440 23280.0122
22 500,20 20 22 40 14 15 M10 x 80 716 23280.0222
28 250,01 22 28 46 16 20 M12 x 60 661 23280.0128
28 500,20 22 28 46 16 20 M12 x 90 1259 23280.0228
HWHALDER Blo|x| 1~9] 2

THAl: 3.2.2024


http://halder.com/kr/23280.0110
http://halder.com/kr/23280.0210
http://halder.com/kr/23280.0112
http://halder.com/kr/23280.0212
http://halder.com/kr/23280.0114
http://halder.com/kr/23280.0214
http://halder.com/kr/23280.0116
http://halder.com/kr/23280.0216
http://halder.com/kr/23280.0118
http://halder.com/kr/23280.0218
http://halder.com/kr/23280.0122
http://halder.com/kr/23280.0222
http://halder.com/kr/23280.0128
http://halder.com/kr/23280.0228

Wi i
1
)
=0 70
i mu

)

<+

HE of

Kl

6a/6b/6c &

F

3
=

- ooz

0.1% wiw O|

=22
==

- 20241 18 23Y SVHC

F

[
HEEH

b

L
=

[u}
]
it
0%
<+
Kl
R
W L
H ilo
Kl =)
h o
- N
T
i 20
il =
o o0
20 6
14 ol
ok il
zl il
3l H
<+ ol
T 11

https://www.P65Warnings.ca.gov/

ol

oy

[ok}

o
ol
IH
il
Ho
=0
IH

B[l

HOo|X|2~2| 2
JHAl: 3.2.2024

NHALDER



